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Aufgaben-Quickname: 4787

Aufgabe 1
Quick:
4787

Berechne.

a) 71 + 229 = 300 b) 54 + 446 = 500 c) 22 + 178 = 200
d) 92 + 608 = 700 e) 73 + 727 = 800 f) 78 + 422 = 500
g) 20 + 180 = 200 h) 30 + 470 = 500 i) 47 + 753 = 800
j) 62 + 538 = 600

Aufgabe 2
Quick:
4787

Berechne.

a) 686 + 2314 = 3000 b) 134 + 3866 = 4000
c) 849 + 5151 = 6000 d) 622 + 7378 = 8000
e) 624 + 5376 = 6000 f) 419 + 2581 = 3000
g) 604 + 6396 = 7000 h) 540 + 2460 = 3000
i) 392 + 5608 = 6000 j) 843 + 2157 = 3000

Aufgabe 3
Quick:
4787

Berechne.

a) 2 + 78 = 80 b) 5 + 75 = 80 c) 7 + 23 = 30
d) 7 + 73 = 80 e) 5 + 55 = 60 f) 4 + 66 = 70
g) 5 + 85 = 90 h) 8 + 32 = 40 i) 8 + 2 = 10 j) 4 + 56 = 60

Aufgabe 4
Quick:
4787

Berechne.

a) 200 + 2800 = 3000 b) 900 + 8100 = 9000
c) 200 + 4800 = 5000 d) 200 + 1800 = 2000
e) 800 + 7200 = 8000 f) 500 + 4500 = 5000
g) 400 + 4600 = 5000 h) 400 + 6600 = 7000
i) 400 + 7600 = 8000 j) 500 + 6500 = 7000

Viel Erfolg!
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